angle?

wealth?

[fv=>5andy=—2, find the value of:
@ 3x+dy () ) (©)

Ify =u + at, find

@ v ifu=46,a=98ands=7
M v ifu=0,a=-15andr=13
(&) w ifv=58a=10andr=9

Simplify:
(a) 5x+ 3);3 — v+ 6.\'2 (b)
(¢) Gxy—5x-+dy—3xy @
Sll]lphfy’

@ Saxbx3c () 6px4qx%p

(d) lowm=2n (e) 4xty + v

Expand the following:
(a) S(x+2) Ly 3Q2a-1)
d) 43-x (&) —-2(m+n)

Solve these equations:

@ x-5-4 - 0)
X
2.8 d
© 3 (d)
(e 4da+5=1 ey
afion Pty Lid Understanding Year 11 & 12 51
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(a) Acar travels K km/h for x hours. How far does it travel?

py Two angles of a triangle are x* and »°. What is the size of the third

(¢) Three people have $x, $ and $z respectively. What is their average

éx L3y (@) 40—

p2+2p~5—6p+3p2

3y 3y —x"+ Sxp

(¢) 3apx-5x

6 24abe+2ac

(¢} 2p(y+3)
() b(2-3b)

2a=17

xX+2
=3

Jag—7=9
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Hy
L REVIEW EXERCISE —LEVEL 2 RE"
L . Write the simplest algebraic expression for each of the following: I

(a) The perimeter of a square with side x em.

. (b) The perimeter of a rectangle with sides x + 3 and x + 4.

= . (c) The area of a square with side 3x.

x‘ ‘ (d) The area of arcctangle with sides 5x and 2y. 2.
i
X

| 2. prZG,q:2,7‘=4ands=3,ﬁnd:

[ (@ pst+gr by  pgrs {c) JZ p+r

@ 2W+g-r @ Sr+2g-3s O Sparsrs |
3 ;

s 3. Simplify:
(@) —2pt+Syx3xtox-y (b) —3mm+2m+dn—m 4.
() 2a+154°b+3ab-2ab ) 837 x (=307 = (- 69)

|

Iy
[
| _
e
G

4, Expand and simplify:

_ (@ 3x@x+5)+4x B —x@Z-x)Fx
(©) i(4x~3)#5x (d) i(3x+2)—2 5
‘\E . K - ’ 2 4 )
©) zx(z";’lJ @ —(6x—5)—(2x-3) 6

ol 5. Solve these equations:

i (a) 4(3x - 5)= 16 (b.) 64 16=0y—4
| (C) Px+15=7—-4x (C) 3.“:__{_1:‘\,_2‘_2
)

A 6.  The Rent-a-Bomb Car Hire Company charges a basic fee of $35 plus $30 per
N day. Frank hires a car and pays a total of $755 at the end.

(a)  Write an equation to represent the above information.

(b)  For how many days did Frank hire the car?

il
11' ' Understan:
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REVIEW EXERCISE - LEVEL 3

1. (@) Ifxapplescosta total of Sy, what is the cost of z apples?

(b)  The price of bricks increases from $x/tonne to $y/tonne . Before the price
rise, the cost of bricks for an average house was $47. What is the new cost
of bricks for an average house?

2
2. Hx=—,y= 3 and z= % evaluate:

1
2!

@ 4z ORN-4 © ExZ

==

Expand and simplify:
(@) xx+yp)+rx—1 (b) é(w +3) +%(x +2)

(@ If’=a"+b anda=27 and b= 36, find c.

by Ifs :zn‘+%m’l Ji=T7,a=-—3and =10, find 5.

(¢} If S:%[Qadr(n—l)d], n=25a=T7andd=8§, find S

In the equation v = 12 + 5¢, make ¢ the subject.

Solve these equations:

(a) E_G;;D+4:16 B S5Qx-D=x+4

2

*E-l-'—\-:l
3 4

(e)

(g8 Ydvr+2=2

0 per
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